


1) Has to: complete the following chart.

PRONOUN AFFIRMATIVE |NEGATIVE INTERROGATIVE (?)
SHE She has to

HE Does he have to?

IT It doesn't have to

2) Choose the correct alternative.

1. Michael come home before 11 pm every day. (+)
a. Have to b. does have to c. has to
2. She call her friend tonight. (+)
a. has to b. doesn't have to c. have to
3. Peter wear a uniform for his job, because he is a
lawyer.

a. doesn't has to

3. Angie doesn’t

b. doesn’t have to

c. haven't to

come to the meeting; it is not mandatory.

b. has to

¢. had to

read a literature book?

a. Have to
4. she
a. Do/ have

b. Does / has

c. Does / have

3) Complete the following sentences with the correct form of “has to".

1. He eat dinner now. (+)
2, Annie
3. A secretary

go to work next Friday?

4, a person have to drink water to stay alive?

5. Evan

be a woman. The secretary can be a man. (-)

use a computer for his classes?




